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©el: NASE 2A2H N (A2SHII=SSLE3H) (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
e F 1,210,294 957,819 252,475
= 799,226 746,632 52,594
AlHI 199,807 186,659 13,148
T Hl 211,261 24,528 186,733
I =MEEH 1,023,561 957,819 65,742
= 799,226 746,632 52,594
AlHI 199,807 186,659 13,148
-l 24,528 24,528 0
HNASE 2z N (A2SHIISSE3AH) 1,023,561 957,819 65,742
= 799,226 746,632 52,594
AlHI 199,807 186,659 13,148
Tl 24,528 24,528 0
=220 AZHIXA 590,909 525,373 65,536
= 472,727 420,298 52,429
Al 118,182 105,075 13,107
307 glztol & 590,909 525,373 65,536
= 472,727 420,298 52,429
Al 118,182 105,075 13,107
01 2224l 590,909 525,373 65,536
Ogz2s0 &zdl XA Z & 590,909,000 590,909 525,373 65,536
= 472,727 420,298 52,429
AlH 118,182 105,075 13,107
og=a0 REX JIZ2ZtMZ22Z A 6,663 6,567 96
= 5,330 5,253 ”
Al 1,333 1,314 19
101 1Al 6,663 6,567 96
= 5,330 5,253 7
Al 1,333 1,314 19
04 DIZtHZ22 s+ 6,663 6,567 96
Ogz2s0 gREx 2% 6,663,000& 6,663 6,567 96
= 5,330 5,253 77
Al 1,333 1,314 19
=220 22 HHIXS 5,420 5,520 A 100
= 4,336 4,416 A80
AlH 1,084 1,104 A 20
202 044l 5,420 5,520 A 100
= 4,336 4,416 A 80
Al 1,084 1,104 A 20
01 SLHOYI 5,420 5,520 A 100
O2dz2s0 u=s 2 & 3,500,000& 3,500 3,600 A 100
= 2,800 2,880 A 80
Al 700 720 A 20
o220 R 5,930 5,720 210
= 4,744 4,576 168
AlHI 1,186 1,144 42
201 L Er2A | 5,930 5,720 210




SN MERED
M. B EMEEE
©el: NASE 2A2H N (A2SHII=SSLE3H) (Sl & &)
SN P SA(EN) - MBAY - BES 0] &k o4 p/E-E" Hl D2
= 4,744 4,576 168
AlH 1,186 1,144 42
01 At 22l 5,930 5,720 210
O2lzsa?Es &A=
2 & 630,000& 630 420 210
= 504 336 168
AlH 126 84 42
Hees (M2 2 186,733 0 186,733
BENE(Yd2S20HISSEsH) 186,733 0 186,733
ZABEXSEES 186,733 0 186,733
802 BH& 3 It 186,733 0 186,733
01 =2n2x3eeE= 37,882 0 37,882
Ogzs0 g= 37,882,000& 37,882 0 37,882
02 Al - EHIEXSEHEZ 9,466 0 9,466
O2zss0 g= 9,466,000& 9,466 0 9,466
03 Ugd=3S 139,385 0 139,385
FHOS3, 3urzdl S 139,385,000& 139,385 0 139,385




